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Aufgaben-Quickname: 7514

Aufgabe 1

Verdoppele.

a) 822 =164
d) 70 -2 = 140
¢) 54-2 = 108
i) 30-2 = 60

Aufgabe 2

Verdoppele.

a)14-2 =28
)82 =16
) 10-2 = 20

Aufgabe 3
Verdoppele.

a) 82,6 - 2 = 165,2
d) 22,23 - 2 = 44,46

¢) 94,41 - 2 = 188,82
i) 71,18 - 2 = 142,36

Aufgabe 4
Verdoppele.
a)12-2=24
d) 78 - 2 = 156
¢) 13-2 =26
) 42-2 =84

Viel Erfolg!
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b) 56 -2 = 112 ¢) 79 -2 = 158
e) 722 = 144 £)59-2 =118
h) 96 - 2 = 192 )20 -2 = 40
b)9-2 =18 ¢) 182 =36 d)4-2=
£)3.2= ) 7-2=14 h) 192 = 38
H12.2 =24
b) 72,39 - 2 = 144,78 ¢) 91,42 -2 = 182.84
¢) 18,13 - 2 = 36,26 £) 19,61 -2 = 39,22
h) 37,15 -2 = 74,3 ) 24,46 - 2 = 48,92
b) 23 -2 = 46 ¢)41-2 =82
¢) 91-2 = 182 £)39-2="78
h) 24 -2 = 48 ) 40-2 = 80
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